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A developer writes the code below to return a message to a user attempting to register a new username. If the
username is available, a variable named nag is declared and assigned a value on line 03.
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What is the value of msg when getAvailableabilityMessage ("newUserName") is executed and get Availability
("newUserName") returns true?

A. "msg is not defined"
B. "newUserName"

C. "User-name available"
D. undefined

Correct Answer: C

QUESTION 2

Refer to the following code:

Let obj ={

Foo: 1,

Bar: 2

}

Let output=]],

for(let something in obj{
output.push(something);

}

console.log(output);
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What is the output line 117
A.[1,2]

B. ["bar","fo0"]

C. ['foo","bar"]

D. ['foo:1","bar:2"]

Correct Answer: C

QUESTION 3

Refer to the following code:
01 function Tiger(){

02 this.Type = "Cat\\;

03 this.size = “large\\;

04}

06 let tony = new Tiger();

07 tony.roar = () =>{

08 console.log("They\\'re great1\\);

09}

11 function Lion(){

12 this.type = "Cat\\;
13 this.size = “large\\’;
14}

16 let leo = new Lion();
17/\nsert code here

18 leo.roar();
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Which two statements could be inserted at line 17 to enable the function call on line 18?

Choose 2 answers.

A. Leo.roar = () => { console.log("They\\\'re pretty good:\\'); };

B. Object.assign(leo,Tiger);

C. Object.assign(leo,tony);
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D. Leo.prototype.roar = () => { console.log(' They\\'re pretty good:\\"); };

Correct Answer: AC

QUESTION 4

Which function should a developer use to repeatedly execute code at a fixed interval ?
A. setintervel

B. setTimeout

C. setPeriod

D. setinteria

Correct Answer: A

QUESTION 5

Refer to the code below:
Function changeValue(obj) {
Obj.value =obj.value/2;

}

Const objA = (value: 10);
Const objB = objA,;
changeValue(objB);

Const result = objA.value;
What is the value of result after the code executes?
A. 10

B. Nan

C.5

D. Undefined

Correct Answer: C

QUESTION 6

CORRECT TEXT Refer the following code
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let array =[1,2,3,4,4,5.4.,4];
for(let 1=0;1<array.length;i++)
d

if(array[i]==4){

array.splice(i, 1);
-~

h

alert(array);

what is the value of array after code executes?
A. 1,235

B. PlaceHolder

C. PlaceHolder

D. PlaceHolder

Correct Answer: A

QUESTION 7

Refer to the code below:

LetinArray =[[1,2],[3,4,5]];

Which two statements result in the array [1, 2, 3, 4, 5] ?
Choose 2 answers

A.[]. Concat.apply ([ ], inArray);

B. []. Concat (... inArray);

C. []. concat.apply(inArray, [ 1);
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D.[]. concat ([ ....inArray ] );

Correct Answer: AB

QUESTION 8

Refer to the code below:

Let carl = new Promise((_, reject) =>

setTimeout(reject, 2000, "car 1 crashed in" =>

Let car2 =new Promise(resolve => setTimeout(resolve, 1500, "car 2 completed"”)
Let car3 =new Promise(resolve =>setTimeout(resolve, 3000, "car 3 completed”)
Promise.race(( carl, car2, car3))

.then (value => (

Let result = “$(value) the race.\\';)}

.catch(arr => {

console.log("Race is cancelled.”, err);

D

What is the value of result when Promise.race executes?

A. Car3 completes the race

B. Car 2 completed the race.

C. Car 1 crashed in the race.

D. Race is cancelled.

Correct Answer: B

QUESTION 9

Cloud Kicks has a class to represent items for sale in an online store, as shown below:
Class Item{

constructor (name, price){

this.name = name;

this.price = price;

}
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formattedPrice(){
return “s\\' + String(this.price);}}

A new business requirement comes in that requests a Clothingltem class that should have all of the properties and
methods of the Item class but will also have properties that are specific to clothes.

Which line of code properly declares the clothingltem class such that it inherits from Item?
A. Class Clothingltem implements Item{

B. Class Clothingltem {

C. Class Clothingltem super Item {

D. Class Clothingltem extends Item {

Correct Answer: D

QUESTION 10

Refer to the code:

> (Animel . p1

Given the code above, which three properties are set petl? Choose 3 answers:
A. Name

B. canTalk

C. Type
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D. Owner
E. Size

Correct Answer: BCE

QUESTION 11

Refer to the code below:

Line 05 causes an error.

What are the values of greeting and salutation once code completes?
A. Greeting is Hello and salutation is Hello, Hello.

B. Greeting is Goodbye and salutation isHello, Hello.

C. Greeting is Goodbye and salutation is | say Hello.

D. Greeting is Hello and salutation is | say hello.

Correct Answer: A

QUESTION 12

A developer has a web serverrunning with Node.js. The command to start the web server is node server.js. The web
server started having latency issues. Instead of a one second turnaround for web requests, the developer now sees a
five second turnaround.

Which command can the web developer run to see what the module is doing during the latency period?

A. NODE_DEBUG-=true node server.js

B. DEBUG=http, https node server.js

C. NODE_DEBUG=http,https node server.js

D. DEBUG-=true node server.js

Correct Answer: D
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QUESTION 13

Given the following code:
document.body.addEventListener(" click \\, (event) => {
if (/* CODE REPLACEMENT HERE */) {
console.log("button clicked\\");

)

»;

Which replacement for the conditional statement on line 02 allows a developer to
correctlydetermine that a button on page is clicked?

A. Event.clicked

B. e.nodeTarget ==this

C. event.target.nodeName == "BUTTON\\'

D. button.addEventListener( click\\")

Correct Answer: C

QUESTION 14

Which statement phrases successfully?
A. JSON.parse (" foo \\');

B. JSON.parse (" foo " );

C. JSON.parse(" " foo W' ");

D. JSON.parse(" " foo " \\;

Correct Answer: D

QUESTION 15

Refer to code below:

Function muFunction(reassign){
Let x =1,

vary =1;
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if( reassign ) {

Let x= 2;

Vary = 2;

console.log(x);
console.log(y);}
console.log(x);
console.log(y);}

What is displayed when my Function(true) is called?
A.2211

B. 2 2 undefined undefined
C.2212

D.2222

Correct Answer: C
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